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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit) Name:
Find the value of n. Answers

(4%x5)x3=4x(nx3) 2) (7x5)xn=7x(5x%10)
A.5 A.10 1
B.3 B.1
C.6 C.7
D. 4 D.5 2

3.
0x(10x9)=(0xn)x9 4) (9%x4)xn=9x%x(4x0)
A.9 Al
B.O B.9 4
C.3 C.4
D. 10 D.0 5.
8x(9%x6)=(8x9)xn 6) 9%x(6x3)=(9%xn)x3 6.
A.8 A.0
B.6 B.6 7.
C.3 C.3
D.9 D.9 8
(Nx0)x6=1%x(0x6) 8 1x(nx4)=(1x9)x4 9.
A.0 Al
B.1 B.6
C. 10 C.9 10
D.6 D.4

11.
nx(10x1)=(6x10)x1 10) (0x7)x6=0%x(Nnx6) 1
Al A.6 '
B.0 B.0
C.10 C.4 13.
D.6 D.7

14.
(6xXn)x5=6x(7%x5) 12) (1x10)x2=1x(10xn)
A.7 Al
B.4 B. 10
C.6 C.2
D.5 D.5
10x(8x2)=(10x8)x%xn 14) (5x10)x4=5%x(nx4)
A.2 A. 4
B.7 B. 10
C.10 C.0
D.8 D.5
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit) Name. Answer Key
Find the value of n. Answers
(4%x5)x3=4x(nx3) 2) (7x5)xn=7x(5x%10)
A.5 A. 10 . A
B.3 B.1 -
C.6 C.7
D. 4 D.5 2 L
3 D
0x(10x9)=(0xn)x9 4) (9x4)xn=9x(4x0) —
A.9 A.l D
B.0 B.9 4 =
C.3 C.4
D. 10 D.0 5 B
_ _ 6. B
8x(9%x6)=(8%9)xn 6) 9x(6%x3)=(9%xn)x3 -
A.8 A.0
B.6 B.6 7 B
C.3 C.3
D.9 D.9 8 L
(Nx0)x6=1x(0x6) 8) 1x(nx4)=(1x9)x4 9 D
A.0 A.l
B.1 B.6 D
C. 10 C.9 0_-
D.6 D.4
1. A
nx(10x1)=(6x10)x1 10) (0x7)x6=0%x(Nnx6) 1 C
Al A.6 —
B.0 B.0
C.10 C.4 13 A
D.6 D.7
14, B
(6xXn)x5=6x(7%x5) 12) (1x10)x2=1x(10xn)
A.7 A.l
B.4 B. 10
C.6 C.2
D.5 D.5
10x(8x2)=(10x8)x%xn 14) (5x10)x4=5%x(nx4)
A.2 A.4
B.7 B. 10
C.10 C.0
D.8 D.5
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit) Name:
Find the value of n. Answers

(4xn)x1=4x(0x1) 2) 9x(8%x2)=(9%8)xn
A.4 A.2 N
B.1 B.9
C.0 C.5
D.8 D. 8 2

3.
5x(1xn)=(5%x1)x9 4) (1x0)x8=1x(0xn)
A.5 A.9
B.7 B.0O 4
C.1 C.8
D.9 D.1 5.
(9x1)x3=9x(nx3) 6) (4xn)x6=4x(1x6) 6.
A.9 A. 4
B.3 B.8 7.
C.7 C.6
D.1 D.1 8
9x(5x1)=(nx5)x1 8) (6x3)x1=6%x(nx1) 9.
A.5 A.3
B.1 B.6
C.9 C.9 10
D.10 D.1

11.
nNx(0x5)=(8x0)x5 10) 6x(Nx8)=(6x3)x%x8 1
A.8 A.6 '
B.0 B.8
C.7 C.10 13.
D.5 D.3

14.
1x(6%x8)=(1xn)x8 12) nx(9x10)=(1x9)x10
A.6 A.9
B.8 B.1
C.3 C.10
D.1 D.3
nNx(6x1)=(4%x6)x1 14) (nx9)x0=8x%x(9%0)
A.5 A.8
B.4 B.9
C.6 C.0
D.1 D.7

1-10 | 93| 86|79 71|64 |57|50]43] 3629 |

Math www.CommonCoreSheets.com 2 11-14(21|14| 7 | O




|

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit)

Name:

Answer Key

Find the value of n. Answers
1) (4xn)x1=4x(0x1) 2) 9%x(8x2)=(9%x8)x%xn
A. 4 A.2 1 C
B.1 B.9 -
C.0 C.5
D.8 D.8 2 A
3 D
5x(1xn)=(5%x1)x9 4) (1x0)x8=1x(0xn) -
A.5 A.9 C
B.7 B.0 4 &
C.1 C.8
D.9 D.1 5 D
_ _ 6. D
(9%1)x3=9x%x(nx3) 6) (4Xxn)x6=4x(1%6) -
A.9 A. 4
B.3 B.8 7. C
C.7 C.6
D.1 D.1 8 A
9x(5x1)=(nx5)x1 8 (6x3)x1=6x(nx1) 9. A
A.5 A.3
B.1 B.6 D
C.9 C.9 p—
D. 10 D.1
1. A
nNx(0x5)=(8x0)x5 10) 6x(Nx8)=(6x3)x%x8 1 B
A.8 A.6 S
B.0 B.8
C.7 C.10 i B
D.5 D.3
1, A
1x(6%x8)=(1xn)x8 12) nx(9x10)=(1x9)x10
A.6 A.9
B.8 B.1
C.3 C.10
D.1 D.3
nNx(6x1)=(4%x6)x1 14) (nx9)x0=8x%x(9%0)
A.5 A.8
B.4 B.9
C.6 C.0
D.1 D.7
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Associative Property (Missing Digit)

Name:

Find the value of n.

1)

3)

5)

7)

9)

11)

13)

Answers

8x(5x6)=(nx5)x6 2) (Nx8)x7=3x(8x%x7)
A.5 A.3 1
B.1 B.8
C.8 C.7
D. 6 D. 1 2

3.
(4x1)x8=4x(1xn) 4) (0x4)x1=0x(4xn)
A.8 A.7
B.9 B.O 4
C.4 C.4
D.1 D.1 5.
(4xn)x7=4x(1x7) 6) 7x(3%x2)=(Nnx3)x2 6.
A.7 A.3
B.4 B.2 7.
C.10 C.7
D.1 D.8 8
(1xn)x3=1x(10x3) 8) 3x(4x0)=(3%x4)xn 9.
A.10 A. 4
B.6 B.3
C.3 C.2 10
D.1 D.0

11.
(6x0)x5=6x(0x%xn) 10) (8xn)x2=8x(5x%x2) 1
A.6 A.8 '
B.0 B.4
C.1 C.5 13.
D.5 D.2

14.
9x(1x5)=(9%xn)x5 12) (10xn)x8=10x(7x8)
A.9 A.6
B.5 B. 10
C.0 C.7
D.1 D.8
4x(1x9)=(nx1)x9 14) nx(10x8)=(3x10)x8
A. 4 A.10
B.9 B.3
C.3 C.8
D.1 D.4
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit)

Name:

Answer Key

Find the value of n. Answers
8x(5x6)=(nx5)x6 2) (Nx8)x7=3x(8x%x7)
A.5 A.3 . C
B.1 B.8 -
C.8 C.7
D.6 D.1 2 A
3z A
(4x1)x8=4x(1xn) 4) (0x4)x1=0x(4xn) -
A.8 A.7 D
B.9 B.0 4 ¥
C.4 C.4
D.1 D.1 5 D
(4xn)x7=4x(1x7) 6) 7x(3x2)=(nx3)x2 . _C
A.7 A.3
B.4 B.2 7 A
C.10 C.7
D.1 D.8 e D
(1xn)x3=1x(10x3) 8 3x(4x0)=(3%x4)xn o. D
A.10 A. 4
B.6 B.3 C
C.3 C.2 p———
D.1 D.0
1 D
(6x0)x5=6x(0x%xn) 10) (8xn)x2=8x(5x%x2) 1 C
A.6 A.8 E—
B.0 B.4
C.1 C.5 13 A
D.5 D.2
14, B
9x(1x5)=(9%xn)x5 12) (10xn)x8=10x(7x8)
A.9 A.6
B.5 B. 10
C.0 C.7
D.1 D.8
4x(1x9)=(nx1)x9 14) nx(10x8)=(3x10)x8
A. 4 A.10
B.9 B.3
C.3 C.8
D.1 D.4
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Associative Property (Missing Digit)

Name:

Find the value of n.

1)

3)

5)

7)

9)

11)

13)

(5x2)xn=5x%x(2x7)
A.5
B.9
C.7
D.2

(0x4)xn=0x(4x%x10)

2) (0xn)x6=0x(2%6)
A.2

O0Ow
n oo

4) (3x1)x9=3x(1xn)

Answers

A.10 A.9
B.2 B. 10 4
C.0 C.1
D.4 D.3 5.
10x(nx5)=(10x6)x%x5 6) Nx(7x5)=(1%x7)x5 6.
A.6 A.5
B.5 B.1 7.
C.7 C.7
D. 10 D.9 8
(nx5)x4=8x(5x4) 8) 4x(nx1)=(4x9)x1 0.
A.7 A.9
B.5 B. 4
C.8 C.6 10
D.4 D.1

11.
(10x3)xn=10x(3x%x0) 10) (4xn)x9=4x(1x9) 1
A.0 Al '
B.1 B.8
C.10 C.9 13.
D.3 D.4

14.
4x(2x10)=(4x%xn)x10 12) (7x1)x9=nx(1x9)
A. 4 A.8
B.2 B.1
C.10 C.9
D.6 D.7
(7x0)x2=7x(0x%xn) 14) 7x(0x5)=(7xn)x5
A.8 A.0
B.2 B. 4
C.0 C.7
D.7 D.5
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit) Name. Answer Key
Find the value of n. Answers
(5%x2)xn=5x(2x%x7) 2) (0xn)x6=0x(2%6)
A.5 A.2 . C
B.9 B.0 -
C.7 C.6
D.2 D.5 2 A
3z A
(0x4)xn=0x(4x10) 4) (3x1)x9=3x(1xn) -
A.10 A.9 A
B.2 B. 10 4
C.0 C.1
D.4 D.3 5 A
_ _ 6. B
10x(nx5)=(10x6)x%x5 6) Nx(7x5)=(1%x7)x5 -
A.6 A.5
B.5 B.1 7. C
C.7 C.7
D. 10 D.9 8 L
(Nx5)x4=8x(5x4) 8) 4x(nx1)=(4x9)x1 o. A
A.7 A.9
B.5 B.4 A
C.8 C.6 0_
D.4 D.1
1 B
(10x3)xn=10x(3x%x0) 10) (4xn)x9=4x(1x9) 1 D
A.0 A.l S
B.1 B.8
C.10 C.9 13 B
D.3 D.4
1, A
4x(2x10)=(4x%xn)x10 12) (7x1)x9=nx(1x9)
A. 4 A.8
B.2 B.1
C.10 C.9
D.6 D.7
(7x0)x2=7x(0x%xn) 14) 7x(0x5)=(7xn)x5
A.8 A.0
B.2 B.4
C.0 C.7
D.7 D.5
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Associative Property (Missing Digit) Name:
Find the value of n. Answers
1) 1x(5%x0)=(1x5)x%xn 2) 9x(nx10)=(9%x6)x10
A.2 A.6 N
B.0 B. 10
C.1 C.9
D.5 D.3 2
3.
3) (4x0)x5=4x(nx5) 4) nx(9x4)=(6%x9)x4
A.2 A.6
B.O B.4 4
C.5 C.7
D.4 D.9 5.
5) 6x(4x3)=(6%x4)xn 6) 4x(0xn)=(4x0)x8 6.
A. 4 A.8
B.6 B.5 7.
C.3 C.0
D.5 D.4 8
7) (6x3)x9=6x(3x%xn) 8) (0x10)xn=0x(10x1) 9.
A.9 A.0
B.8 B.1
C.6 C.5 10
D.3 D.10
11.
9) (1x5)x0=1x(5x%xn) 10) 1x(5xn)=(1%x5)x9 1
Al A.9 '
B.0 B.5
C.5 C.1 13.
D.7 D.2
14.
11) nx(3x7)=(6%x3)x7 12) (7x5)x4=7x(nx4)
A.3 A.5
B.7 B.7
C.6 C.4
D.2 D.1
13) 1x(5x%x10)=(1x5)xn 14) (0x6)xn=0x%x(6%2)
A.10 A.6
B.5 B.2
C.1 C.7
D.6 D.0
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit)

Name:

Answer Key

Find the value of n. Answers
1x(5%x0)=(1x5)x%xn 2) 9x(nx10)=(9%x6)x10
A.2 A.6 ., B
B.0 B. 10 -
C.1 C.9
D.5 D.3 2 A
3 B
(4x0)x5=4x(nx5) 4) nx(9x4)=(6%x9)x4 -
A.2 A.6 A
B.0 B.4 4
C.5 C.7
D. 4 D.9 5 C
_ 5. A
6x(4x3)=(6%x4)xn 6) 4x(0xn)=(4x0)x8 —_
A. 4 A.8
B.6 B.5 7. A
C.3 C.0
D.5 D.4 s B
(6x3)x9=6x(3xn) 8 (0x10)xn=0x(10x1) oo B
A.9 A.0
B.8 B.1 A
C.6 C.5 0_
D.3 D.10
u C
(1x5)x0=1x(5x%xn) 10) 1x(5xn)=(1%x5)x9 n A
Al A.9 S
B.0 B.5
C.5 c.1 13 A
D.7 D.2
14, B
nNx(3x7)=(6x3)x7 12) (7x5)x4=7x(nx4)
A.3 A.5
B.7 B.7
C.6 C.4
D.2 D.1
1x(5%x10)=(1%x5)xn 14) (0x6)xn=0x(6%2)
A.10 A.6
B.5 B.2
C.1 C.7
D.6 D.0
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Find the value of n.

Associative Property (Missing Digit)

Name:

1) (3xn)x4=3x(6x4)

3)

5)

7)

9)

11)

13)

A.3

OO0

.4
.9
.6

5x0)x8=nx(0x8)

2) 1x(9%x3)=(1%x9)xn

1
A
B
C
D

N WEF ©

4) 3x(5xn)=(3x5)x10

Answers

A.8 A. 10
B.5 B.1 4
C.0 C.5
D.4 D.3 5.
7x(6x9)=(7xn)x9 6) Nx(7x5)=(1x7)x5 6.
A.6 A.5
B.7 B.7 7.
C.4 C.0
D.9 D.1 8
4% (5x7)=(nx5)x7 8) (10x2)x8=nx(2x8) 9.
A. 4 A.2
B.0 B.8
C.7 C. 10 10
D.5 D.7

11.
(7%x9)xn=7x(9%x1) 10) 10x(7x8)=(nx7)x8 1
A.2 A.8 '
B.7 B. 10
C.9 C.9 13.
D.1 D.7

14.
5x(3x10)=(5xn)x10 12) (9%x3)xn=9x(3x%x5)
A.5 A.9
B. 10 B.5
C.9 C.10
D.3 D.3
O0x(nx8)=(0x7)x8 14) 4x(nx6)=(4%x3)x6
A.7 A. 4
B. 10 B.5
C.8 C.3
D.0 D.6
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3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit)

Name:

Answer Key

Find the value of n. Answers
1) (3xn)x4=3x(6x%x4) 2) 1x(9%x3)=(1%x9)xn
A.3 A.9 . D
B.4 B.1 -
C.9 C.3
D. 6 D. 2 2 C
3 B
5x0)x8=nx(0x8) 4) 3x(5xn)=(3x5)x10 -
A.8 A.10 A
B.5 B.1 4
C.0 C.5
D.4 D.3 5 A
7x(6x9)=(7xn)x9 6) Nx(7x5)=(1x7)x5 6. D
A.6 A.5
B.7 B.7 7. A
C.4 C.0
D.9 D.1 e C
4x(5x7)=(nx5)x7 8 (10x2)x8=nx(2x8) o. D
A. 4 A.2
B.O B.8 B
C.7 C. 10 p—
D.5 D.7
1 D
(7%x9)xn=7x(9%x1) 10) 10x(7x8)=(nx7)x8 1 B
A.2 A.8 S
B.7 B. 10
C.9 C.9 13. A
D.1 D.7
u C
5x(3x10)=(5xn)x10 12) (9%x3)xn=9x(3x%x5)
A.5 A.9
B. 10 B.5
C.9 C.10
D.3 D.3
O0x(nx8)=(0x7)x8 14) 4x(nx6)=(4%x3)x6
A.7 A. 4
B. 10 B.5
C.8 C.3
D.0 D.6
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Associative Property (Missing Digit)

Name:

Find the value of n.

1) 1x(6x10)=(1%x6)xn

3)

5)

7)

9)

11)

13)

OCOw>»
OB o e

6x(4x7)=(nx4)x7
A
B.
C
D
2)x5=7x%x(2xn)

3xn)x4=3x%x(6x%x4)

oOm»

4)x5=9x(4xn)

2)

4)

6)

8)

10)

12)

14)

7)x6=3x(nx6)

0x3)x1=0x(3%n)

WO o

A
B
C
D

COwm» S
o1 O BN

Al
B.1
C.5
D.9

x(5%x2)=(4%x5)x2

(5%x1)xn=5x(1x10)

Answers

10.

11

12.

13.

14.

Math
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit) Name. Answer Key
Find the value of n. Answers
1x(6%x10)=(1%x6)xn 2) 7x(nx8)=(7%x3)x8
Al A.8 . C
B.6 B.6 -
C.10 C.7
D.5 D.3 2 _D
3 D
6x(4x7)=(nx4)x7 4) 9x(nx0)=(9%x2)x0 -
A.7 A.4 D
B.1 B.9 4 ¥
C.4 C.0
D.6 D.2 5 C
nx(7x6)=(1x7)x6 6) (3x7)x6=3x(Nx6) 6 L
A.5 A.7
B.7 B.6 7 B
C.1 C.3
D.6 D.1 e D
(7x2)x5=7x(2xn) 8) 9x(6x0)=(nx6)x0 oo B
A.8 A.6
B.5 B. 10 B
C.2 C.0 0_-
D.7 D.9
1. A
3xNn)x4=3x(6x%x4) 10) (0x3)x1=0x%x(3%xn) 1 B
A.3 A.8 —
B.6 B.1
C.7 C.0 13 B
D.4 D.3
1, A
(9%x4)x5=9x%x(4x%xn) 12) nx(5%x2)=(4%x5)x2
A.5 A.2
B.4 B.4
C.0 C.9
D.9 D.5
(10x0)x8=nx(0x8) 14) (5x1)xn=5x(1x10)
A.8 A.10
B. 10 B.1
C.1 C.5
D.0O D.9
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Associative Property (Missing Digit)

Name:

Find the value of n.

1)

3)

5)

7)

9)

11)

13)

Answers

3x(5%x2)=(nx5)x2 2) (Nnx9)x3=1x(9x%x3)
A.5 Al 1
B.8 B.2
C.3 C.9
D. 2 D.3 2

3.
(nx4)x1=3x(4x1) 4) 9x(4x10)=(9x4)xn
A.3 A.10
B.1 B.9 4
C.4 C.6
D.0 D.4 5.
9x(nx0)=(9%x2)x0 6) 9x(7x4)=(9%x7)xn 6.
Al A. 4
B.2 B.9 7.
C.9 C.6
D.0 D.7 8
(0xn)x1=0x(10x1) 8) (6xn)x4=6x%x(10x4) 9.
Al A. 4
B.0 B.6
C.2 C.8 10
D. 10 D. 10

11.
6x(0x10)=(nx0)x10 10) (9%x7)x5=nx(7x%x5) 1
A.10 A.0 '
B.5 B.9
C.6 C.7 13.
D.0 D.5

14.
A% (7x6)=(4%xn)x6 12) 5x(9xn)=(5%x9)x8
A. 4 A.9
B.7 B.8
C.2 C.5
D.6 D.7
(2x6)x10=2x%x(nx10) 14) nx(0x3)=(10x0)x3
A.6 A.0
B. 10 B. 10
C.2 C.3
D.5 D.4
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit)

Name:

Answer Key

Find the value of n. Answers
3x(5%x2)=(nx5)x2 2) (Nnx9)x3=1x(9x%x3)
A.5 Al 1 C
B.8 B.2 -
C.3 C.9
D.2 D.3 2 A
3z A
(nx4)x1=3x(4x%x1) 4) 9x(4x10)=(9%x4)%xn -
A.3 A.10 A
B.1 B.9 4
C.4 C.6
D.0 D.4 5 B
_ _ 5. A
9x(Nnx0)=(9%x2)x0 6) 9x(7%x4)=(9%x7)xn -
Al A. 4
B.2 B.9 7. D
C.9 C.6
D.0 D.7 8 D
(0xn)x1=0x(10x1) 8) (6xn)x4=6x(10x4) o. C
Al A. 4
B.0 B.6 B
C.2 C.8 p—
D. 10 D. 10
1 B
6x(0x10)=(nx0)x10 10) (9%x7)x5=nx(7x%x5) 1 B
A.10 A.0 S
B.5 B.9
C.6 C.7 B A
D.0 D.5
14, B
A% (7x6)=(4%xn)x6 12) 5x(9xn)=(5%x9)x8
A. 4 A.9
B.7 B.8
C.2 C.5
D.6 D.7
(2x6)x10=2x%x(nx10) 14) nx(0x3)=(10x0)x3
A.6 A.0
B. 10 B. 10
C.2 C.3
D.5 D.4
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Associative Property (Missing Digit)

Name:

Find the value of n.

1)

3)

5)

7)

9)

11)

13)

Answers

6x(Nx9)=(6%x4)x9 2) (Nx2)x9=4x(2x%x9)
A.9 A.2 1
B.4 B.9
C.6 C.7
D. 10 D.4 2

3.
6x(2x9)=(6%2)xn 4) 7x(5x8)=(nx5)x8
A.6 A.8
B.9 B.7 4
C.2 C.0
D.4 D.5 5.
1x(2x5)=(1xn)x5 6) 2x(1x0)=(2x1)xn 6.
A.9 Al
B.1 B.2 7.
C.5 C.9
D.2 D.0 8
(nx5)x3=9x%x(5x%x3) 8) (Nx3)x4=8x(3x%x4) 9.
A. 4 A.8
B.9 B.3
C.3 C.4 10
D.5 D.6

11.
(nx10)x0=8x%x(10x%x0) 10) 0x(2x6)=(nx2)x6 1
A. 4 A.5
B.8 B.0
C.0 C.2 13.
D. 10 D.6

14.
(Nnx9)x0=7x(9%x0) 12) 4x(nx10)=(4x7)x10
A.8 A.10
B.0 B.6
C.9 C.7
D.7 D.4
10x(0x9)=(10x0)x%xn 14) (7xn)x2=7x%x(8x2)
A.3 A.3
B.0 B.7
C.10 C.8
D.9 D.2
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1)

3)

5)

7)

9)

11)

13)

Associative Property (Missing Digit)

Name:

Answer Key

Find the value of n. Answers
6x(Nx9)=(6%x4)x9 2) (Nx2)x9=4x(2x%x9)
A.9 A.2 ., B
B.4 B.9 -
C.6 C.7
D. 10 D. 4 2 D
3 B
6x(2x9)=(6%2)xn 4) 7x(5x8)=(nx5)x8 -
A.6 A.8 B
B.9 B.7 4 B
C.2 C.0
D.4 D.5 5 D
1x(2x5)=(1xn)x5 6) 2x(1x0)=(2x1)xn 6. D
A.9 A.l
B.1 B.2 7. B
C.5 C.9
D. 2 D.0 e A
(Nx5)x3=9x(5x3) 8) (Nx3)x4=8x(3x4) 9 B
A. 4 A.8
B.9 B.3 B
C.3 C.4 p—
D.5 D.6
1 D
(nx10)x0=8x%x(10x%x0) 10) 0x(2x6)=(nx2)x6 1 C
A. 4 A.5 S
B.8 B.0
C.0 C.2 13. D
D. 10 D.6
u C
(nx9)x0=7x(9%0) 12) 4x(nx10)=(4x7)x10
A.8 A. 10
B.0 B.6
C.9 C.7
D.7 D.4
10x(0x9)=(10x0)x%xn 14) (7xn)x2=7x%x(8x2)
A.3 A.3
B.0 B.7
C.10 C.8
D.9 D.2
1-10 | 93| 86|79 71|64 |57|50]43] 3629 |
Math www.CommonCoreSheets.com 9 11-14(21|14| 7 | O




|

Associative Property (Missing Digit) Name:
Find the value of n. Answers
1) nx(0x6)=(8x0)x6 2) (2x4)xn=2x(4%6)
A.6 A.4 N
B.0 B.2
C.8 C.6
D. 4 D.8 2
3.
3) 9x(3xn)=(9%x3)x6 4) (5xn)x6=5%x(9%6)
A.6 A.6
B.3 B.3 4
C.9 C.9
D.0 D.5 5.
5) (4x2)xn=4x(2x1) 6) 4x(9x1)=(nx9)x1 6.
A. 4 Al
B.2 B.8 7.
C.1 C.9
D.0 D.4 8
7) nx(10x9)=(0x10)x9 8) (3x2)x1=3x(2x%xn) 9.
Al A.2
B. 10 B. 10
C.9 C.1 10
D.0 D.3
11.
9 (6x7)x10=6%x(7x%xn) 10) nx(3x1)=(8x3)x1 1
A.7 Al '
B.6 B.3
C.1 C.8 13.
D. 10 D.7
14.
11) (8x1)x7=8x(nx7) 12) 6x(3x4)=(6%xn)x4
Al A. 4
B.7 B.3
C.6 C.5
D.8 D.6
13) 5x(1x10)=(nx1)x10 14) (10x4)x5=nx(4x5)
A. 4 A. 4
B. 10 B. 10
C.1 C.5
D.5 D.8
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3)

5)

7)

9)

11)

13)

COow>

Associative Property (Missing Digit) Name. Answer Key
Find the value of n. Answers
1) nx(0x6)=(8x0)x6 2) (2x4)xn=2x(4%6)
6 A.4 1 C
0 B.2 -
8 C.6
4 D.8 2 C
3z A
x(3xn)=(9%x3)x6 4) (5xn)x6=5%x(9%6) -
6 A.6
3 B.3 s _C
9 C.9
0 D.5 5. C
_ 6. D
4x2)xn=4x(2x1) 6) 4x(9%x1)=(nx9)x1 —_
4 Al
2 B.8 7. D
1 C.9
0 D.4 e C
x (10x9)=(0x10)x9 8 (3x2)x1=3x(2xn) o. D
1 A.2
10 B. 10 C
9 C.1 p———
0 D.3
1. A
6x7)x10=6x(7%n) 10) nx(3x1)=(8x3)x1 B
12
7 Al E—
6 B.3
1 C.8 13 D
10 D.7
14 B
8x1)x7=8x(nx7) 12) 6x(3x4)=(6%xn)x4
1 A. 4
7 B.3
6 C.5
8 D.6
x(1x10)=(nx1)x10 14) (10x4)x5=nx(4x5)
4 A. 4
10 B. 10
1 C.5
5 D.8
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